INSTALLATION

MANUAL

-SERIES

WP




Required tools

®

8 mm
Screwdriver [1] Spirit level [2] Wrench [3] hacksaw [4] drill driver [5] drill [6]
Supplied Accesories
4 szt. 1 szt. 1 szt. 1 szt. 6 szt. 1 szt.
y R
N
Ioi:g[;?readed ceiling cover WP Lift [9] Cable guide guide bracket A Guide bracket B ceiling bracket ~ Control box
P frame [8] [10] [11] [12] [13] [14]
1 szt. 1 szt. 2 szt. M8 M4x10 mm M6x10 mm  M4x10 mm M8x60 mm
TN
e} ® /g
8 szt. 4 szt. 6 szt. 4 szt.
— 6 szt.
\ — M4mm M4 mm M4x32mm  M8x10 mm
I ° O
RF Remote [15] Allen key [16] Cable Bracket @ % 9
[17] 4 szt. 6 szt. 6 szt. 4 szt.

1) Mount the cable
guide brackets at first

2).Screw the cable guide as
marked on the drawing




3) . Cut an opening in your desired
location for placing the WP lift . The
opening should be 600x600 mm

4). Using the provided template , mark the places for drilling holes to
place the lift brackets . You need only 4 holes . The remaining 2 are
optional

140
o
O Drill holes for hanging the Lift - 2szt.
~
1.Using spirit level, mark two front 2. According to marked points, 3. Drill the holes in signed /Ouﬂine of cutout in the suspended ceiling.
corners of suspended ceiling cut-out  use included pattern and places. Extra mounting holes
at the solid ceiling. determine the mounting holes.
= 9
O
(<)}
i
Drill holes for haniing the Lift - 2szt.
140 200

5) Using concrete pegs mount the lift on the sealing. The
lowered section of your lift should be placed centric in
regards to the opening. If your ceiling is not perfectly flat ,
use additional holes [5,6]

Adjust the brackets by loosening and tightening the
screws. Use the spirit level , as the lift should operate in
propper levelled conditions




6) Mount the cable brackets

Step 1: plug bracket into Step 2: push the plug into Step 3: Draw the cables
square hole the opening

7) P Connect lift to the control box. Control box can be
mounted on the ceiling , suspended ceiling , or just lay it on
the side. It is important , that both cables and the control
box are not in the way of the lift

7.1) Prepare the cable harness and connect it as you see on the pictures. Do not
put too much pressure to connect the harness , as it is designed to be plugged
correctly without too much force

7.2) Plug the control box harness as marked on picture below




7.3) Setting Top position

a) Put the electrical plug to the electrical network
b) You will hear short "beep" . Afterwards red "POWER" led will light up

6. CAUTION !l if the control box display show any number or symbol -
[ ' EEE[E] check the control box manyal on page 6, before going to further steps

c) By using UP and DOWN buttons set the TOP position. After you will set the desired position ,
press&hold the SETUP button

Structural ceiling

*WP-Projector
Height

Ceiling meg |

UWAGA: ). After setting the TOP position , your projector should be 10-50 mm
above the suspended ceiling . You should also notice the "SETUP"
led beeing lit. The SETUP led will go down only after you will set the
down position (see pt. 10)

Detailed control box manual is on page 6

8) With threaded pins set cover
frame , to a desired height. It
should touch the ceiling delicately
after lift achieves the TOP
position

If the pin is too long , cut it with a hacksaw




Cover

Cover should be adjusted , so it adheres
to the ceiling

9) After setting the cover , turn the nuts
to lock the pin

Ceiling

ceiling

P 10) With UP and DOWN buttons set the (Down) Viewing Position

Caution ! According to point 7.3 control box should still be in SETP
mode , which is indicated by the SETUP led light

Ceiling

Detailed Control Box manual is on page 6

After setting Your preffered Viewing Position , press & Hold the
setup button . Now both Up and Down positions are stored in Cor

Boxes memory

11) Blind the Cover with a light board -
.e. Carton Gypsum or wooden

trol



CONTROL BOX MANUAL
WP-560
V4.0.9

Control

unit

DOW

VN SETUP

MADE BY PROFESSIONALS

Control Box Front

Control Unit’s keypad.

Control Box Rear

Lift Power Plug compliant

TV Power Guard socket

with your country standards

RJ45 socket Lift to control
box socket

Note: depending on your lift version the socket type will be compatible
With your country standards.

Programming the OP (Operating Position)

Control Box allows you to setup both top and down viewing position.

A)To setup the TOP VP do the following :

- drive the lift to your desired top position with the up/down buttons

- Press & hold the setup button for at least 3 seconds. You will hear a short “beep”
- The Red setup Led is now lit

B) To setup the DOWN OP position :

- (the setup led is still lit)

- Drive the lift to the desired DOWN position with UP/DOWN buttons

- Press & hold the setup button for at least 3 seconds. You will hear a short “beep”

- the red setup led should now be off



EXAMPLE: Adjusting operating position

MADE BY PROFESSIONALS

Control Box Status

The height from which

NN, | you enter the 0P mode is
your preffered top
I operating position
_i s '."..-i_
Set TOP OP
(f——'-\\\ ~BEEP” - You have entered the OP

TOP OP acknowledged

setup mode. The lift will
not go higher than this
position after you leave
OP. In this step you can
place the bottom cover.

ANNRANRARRNRRRRRRNNS

Set up the DOWN OP
position with UP/DOWN
buttons. Caution! Do not
set down OP higher than
TOP OP.

Set DOWN OP § :

p—

f B £

-i- .k.."._.' o e s i j

7R #BEEP AU, | Press8iold Setup to
T | leave the setup mode.
. : Your operating range is
2 smmmmmmm e now set. By leaving the
T setup mode you program
T :C._:._:::._:._:._:._:._J the DOWN OP'
# ——————————— R ———

DOWN OP

Operating
range

You can also enter setup mode by pressing and
holding the 2 lower buttons simultaneously on the
RF remote supllied.




MADE BY PROFESSIONALS

RF Remote Control assignment

The supplied RF remote is already programmed with your TV-Lift . In case you want to program a new one , follow these steps :
- Press& hold the RC Set button for about 3 seconds

- The lift will wait for any signal from a remote for 15 seconds from now on

- Press any button on your remote

- The lift will acknowledge the new remote , which will now be operative

Note : The Control Box has a memory of 8 Remotes. If you will want to program the 9" remote control — the 1 will be
deleted

POWER GUARD (Standby mode detection)
If you will plug your TV in to The control box socket — it will monitor the energy consumption of your screen. If the user

attempts to hide the fully operating screen (turned ON), the control box cuts the power out. After lifting the screen back to the
viewing position, the power will be restored toit.  If the TV is turned off or in standby mode, the power will not be cut out.

Active RJ-45 Socket

Your Premium Control box is equipped with the active RJ-45 Socket , which allows to plug additional accessories
supplied by SABAJGROUP. NOTE: Only the original SABAJGORUP accessories will work with your Premium Control
Box. If you attempt to modify or connect any other devices via the RJ-45 Port, you might damage the Control Box and
you will loose the warranty for doing so.

Display messages:
The numeric display shows the information about the lift operation. If the display shows :

“0” Blinking - electric motor overload (currentexceeded)
“1” Blinking — safety system has been triggered

“2” Blinking — power cut out when hiding the active screen
“3" Blinking - wiring loom not connected to the control box
“4"” Blinking - lower limit switch activated

“5” Blinking — upper limit switch activated Pressing any

button will delete the display message.






INS T RUKC JA

MONTAZU

7~

>

[ <A D

RO W

<

N~

D
- R

-




Noarzedzia niezbedne do montazu

@ //13//

8 mm
Srubokret [1] Poziomica [2] Klucz [3] Pitka do metalu [4] wiertarka [5] wiertto [6]
L szt 1 szt. 1 szt. 1 szt 1 szt. 1 szt. 6 szt
1 &
<>
g
Sruba ' Maskownica [8] Winda [9] Prowadnica wchwyt wchwyt uchwyt sufitowy Sterownik [14]
regulacyjna [7] kabli [10] prowadnicy [11] prowadnicy 2 [12] [13]
1 szt. 1 szt. 2 szt M8 MLx10 mm  M6x10 mm M&x10 mm M8x60 mm
*Poza zestawem

_ & s @ @ &¢@
:[J 8 szt. L szt 6 szt. L szt.
‘@/ 6 szt.

M&mm M4 mm M&x32mm M8x10 mm
% @
Pilot [15] imbus [16] uchwyt kablowy
[17] b szt. 6 szt. 6 szt. L szt

1>Po wyjeciu z
opakowania w
pierwszej kolenosci
przykrecic uchwyty
prowodnicy do
podnosnika

2> Przykrec prowadnice do
uchwytéw jok na rysunku




3> W wybranym miejscu wyciac otwbr
o wymiarach 600x600 mm pod montaz
windy projektora.

A e
DA~

4)Wykozystujoc zataczony szablon wyznacz miejsca mocowania
Windy projektora w stropie, 4 rekomendowane | 2 dodatkowe
otwory (konieczne w razie miejscowego ostabienia podtoza
pocdczas wiercenia 4 zalecanych otworow),
Nastepnie wywierc otwory pod montaz podnosnika

140

IFTEON

SIDE

Drilie holes for hanglng the LI - 25zt

262

1.Using spirit level, mark two front 2. According to marked points, 3. Drill the holes in signed
corners of suspended ceiling cut-out  use included pattern and places. /0““'"3 of cutout in the suspended ceiling.
at the solid ceiling. determine the mounting holes. Pramounting hoes

196

Drille holes forEan\gthe Lift - 2szt.

140 200

5) Wykorzystujac 4 sruby wraz z dyblami przytwierdz
winde projektora uchwytami [1,2,3,4] do stropu, tak aby
opuszczana czes¢ podnosnika byta ustawiona centralnie
wzgledem istniejacego lub planowanego wyciecia w suficie.
Jezeli strop niejest rowny lub posiada liczne krzywizny,
wykorzystaj pozostate dwa uchwyty [5,6].

Wykorzystujac regulacje przy uchwytach, wypoziomuj
winde projektora.




6) Montaz uchwytow kablowych

Krok 1: Wcisnij uchwyt w Krok 2: Wciénij plastikowa Krok 3: Przeciggna¢ kable
$rubke w otwor

kwadratowy otwor

7) Potacz Podnosnik ze sterownikiem. Sterownik Mozna
przymocowac do stropu, przykrecic¢ na suficie lub potozyc.

7.1) Przygotuj wigzke kablowg i wetknij wtyczki silnika oraz wytgcznikdw
krancowych do gniazd tak , jak na zdjeciu




7.3) Ustawienie pozydji

a) Wtoz wtyczke sterownika do zasilania
b) Ustyszysz krétki sygnat dzwiekowy , po czym zapali sie kontrolka "Power"

UWAGA!!
( 37 @‘@'ﬁ] Jezeli wyswietlacz sterownika pokazuje liczbe lub symbol, niezwtocznie
sprawdz jego znaczenie w instrukcji sterownika na stronie 6.

¢) Za pomocg przyciskow UP oraz DOWN ustaw pozycje wyjsciowa sterownika (jego gorne potozenie).
Po ustawieniu odpowiedniej pozycji, zatwierc jg przyciskiem SETUP.

] |

*¥WP-Wysokosc
Projektora

WP

UWAGA: Po wykonaniu tej czynnosci projektor powinien znajdowac sie 10-50
mm ponad sufitem.
Powinna rowniez zaswiecic sie kontrolka "SETUP", ktéra zgasnie
dopiero po ustawieniu pozycji ogladania ( patrz pkt. 10) .

¥ Szczegbtowa instrukcje obstugi sterownika mozna znalesc
na stronie nr 6

8) Za pomocg $rub, dokonac
dokfadnej regulacji ustawienia
wysokosci maskownicy.

Tak aby stykata sie z sufitem.

Nadmiernie dtugie Sruby skrdc¢
za pomocg pitki do metalu.




Maskownica powinna by¢ tak ustawiona,
4 aby réwnomiernie dolegata do sufitu.

9) Po doktadnym ustawieniu dokre¢ po 2
nakretki blokujgcena kazdy pret.

Maskownica

Pro jektor

10) Za pomocg przyciskdw DOWN oraz UP ustaw optymalng pozycje
pracy projektora.

Uwaga! Zgodnie z punktem 7.3, sterownik powinien by¢ w trybie
SETUP, sygnalizowac to bedzie $wiecaca sie dioda "SETUP".

Po wybraniu optymalnej pozycji naciénij przycisk SETUP,
podnosnik zapamieta wybrang pozycje.

¥ Szczegblowa instrukcje obstugi sterownika mozna znalesc
na stronie nr 6

11) Zaslep maskownice dowolng ptyta.




Instrukcja sterownika
WP-560

V4.0.9 Przedni panel sterownika

Control 0\

*® o
RC-SET
UP

DOWN SETUP

Tylna czes$é sterownika

Gniazdo Power Guard

Wtyczka

zasilania Gniazdo RJ45 Gniazdo kontroli
podnosnika

Note: W zaleznosci od wersji podnosnika typ wtyczki zasilajgcej bedzie kompatybilny z gniazdem w Twoim kraju.

Programowanie OP (pozycja operacyjna)

Control Box umozliwia ustawienie zarowno gérnej jak i dolnej pozycji ustawienia.

A)Aby ustawic gérng OP:

- ustaw podnosnik do swojej preferowanej gérnej pozycji wyjsciowej uzywajac przyciskéw UP/DOWN

- Nacisnij i przytrzymaj przycisk konfiguracji przez co najmniej 3 sekundy. Ustyszysz krotki "sygnat dzwiekowy"
- Czerwona dioda konfiguracji jest teraz zapalona

B) Aby ustawic dolng pozycje operacyjng (OP):

- (dioda konfiguracji wciaz sie Swieci)

- Ustaw winde do zadanej pozycji DOLNEJ za pomocg przyciskow UP / DOWN

- Nacisnij i przytrzymaj przycisk konfiguracji przez co najmniej 3 sekundy. Ustyszysz krétki "sygnat dzwiekowy"

- czerwona dioda konfiguracji powinna teraz by¢ wytgczona



Wysokos$¢, od ktorej

wchodzisz w tryb OP, jest
— preferowang goérna
e pozycja robocza
(peracyjna)
‘l' ------ |
]
Set TOP OP — R
,,BEEP” Masz wigczony tryb
m""‘\ b AANNNINNN, ustawien OP. Po

opuszczeniu OP winda nie
podniesie sie wyzej, niz ta
pozycja. W tym kroku
mozesz umiescic¢ doing

pokrywe.

NANNANRNANRRNRRNNS

Ustaw pozycje DOLNA OP
za pomocg przyciskéw UP
/ DOWN. Uwaga! Nie
ustalaj OP powyze;j

| h GORNEJ OP.
Ustaw dolng OP :
S0 et ]
L 4
E s 5
v:« t'::::::.':.'::::.':_;
7R #BEEP NOOONOSOONNNY, [ Nactsni | przytrzymal
1 I Setup, aby wyjsc z trybu
i e i ' ustawien. Twaj zakres
- ——————— = roboczy jest teraz
contrl o] [ ustawiony. Opuszczajac
~ :\::::::::::::::::j. tryb ustawien,
- ——— programujesz DOLNA OP.
DOLNA OP i u
Zakres
roboczy

Mozesz réwniez przejsé do trybu konfiguracji,
naciskajgc i przytrzymujac jednoczesnie 2 dolne
przyciski na pilocie zdalnego sterowania RF.




Przypisanie pilota RF

- Dostarczony pilot RF jest juz zaprogramowany do Twojego podnosnika. Jesli chcesz zaprogramowac nowy,
wykonaj nastepujgce kroki

- Nacisnij i przytrzymaj przycisk RC Set przez okoto 3 sekundy

- Winda bedzie czekac na sygnat z pilota przez 15 sekund od teraz

- Nacisnij dowolny przycisk na pilocie

- Winda potwierdzi nowy pilot, ktéry bedzie od tej pory domysinym

Uwaga: Sterownik ma pamiec dla 8 pilotow. Jesli chcesz zaprogramowac 9-go pilota, pierwszy zostanie usuniety.

POWER GUARD (wykrywanie trybu gotowosci)

Jesli podtgczysz telewizor do gniazda POWER GUARD w sterowniku, to bedzie monitorowac zuzycie energii twojego TV.
Jesli uzytkownik prébuje schowac razem z podnosnikiem wigczony telewizor, skrzynka kontrolna odetnie zasilanie. Po
podniesieniu ekranu do pozycji ogladania zasilanie zostanie przywrdcone. Jesli telewizor jest wytaczony lub znajduje sie
w trybie gotowosci, zasilanie nie zostanie wytgczone.

Aktywnie gniazdo RJ-45

Twdj sterownik jest wyposazony w aktywng wtyczke RJ-45, ktéra pozwala na podtgczenie dodatkowych akcesoriow
dostarczanych przez SABAJGROUP. UWAGA: Tylko oryginalne akcesoria SABAJGORUP bedg wspétpracowac z Twoim
urzadzeniem. Jesli sprobujesz zmodyfikowac lub podtgczy¢ dowolne inne urzgdzenie przez port RJ-45, mozesz uszkodzic¢
urzadzenie | straci¢ gwarancje.

Wyswietlane wiadomosci na panelu sterownika:
Wyswietlacz numeryczny pokazuje informacje o danej akcji sterownika. Jesli na wyswietlaczu pojawi sie:

e “0” - przecigzenie silnika elektrycznego

e “1” —uruchomiono system bezpieczenstwa

e 2" —zasilanie wytgczone podczas chowania aktywnego ekranu

e “3”- wigzka przewododw nie jest podigczona do sterownika

s “4” -wiaczono dolny wytacznik krancowy

e “5” — aktywny gorny wytacznik kraficowy Nacisniecie dowolnego przycisku spowoduje usuniecie komunikatu na wyswietlaczu.



